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[22] C+E2 HAIZE 1 oteie 22Xl E3dtAl2.

VA

y? = 4px

A(xq, Y1)

/ N /F x
B(x2,¥2)
X=-p
<28 1>
<O 1> 20l Z2H ¢ =4pz (p>0) A2 8 B A(z,,y,)IM2 E&0| ZSHS =& z=—p
ot OtlbE B2 M(—p,y;)ct ot & AWM =& F(p,0)2 Xles HS0 TS Ctte S

Blxy,y,) 2t 8HAF. B y, = 00ICH.

[2X 2-1]
H & A, F, BOb 94X 201 ASS 018510 Oh) A8 FBHAIL

Ty — Ty = DY — Y1) oo (o1
(Oh A3 & A9 & BIt Z24 219 Holgks AS 01250 (L) A8 RTHAIL.

— 1Yy = AP7 e, (Lt

[458]
[2X 2-2]
SE4 DI2YS 0125101 B A% & BOAY HHO LHAS A2 RFHAIL. HANM H&D =
S0l QHLbs B8 M(—p, yy)et 52, & BOHAS FHD E401 2Ue B2 M'(-p,y)2t & O,
Oh A2 018310 y, =y, LS 20N (X, 8 M B M'S 22 BLS 20A) [35F]

(L) &2 0183t [2H 2-2] & & HH0l M2 =2s 20/A2. [208]



